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QUESTION 1

What are two ways CyberVision provides visibility and insights on industrial operations? (Choose two )
A. provides management of conveyor operations

B. monitors Automation Control Systems

C. maps industrial zones and conduits

D. conducts motion analytics in robotics operations

E. detects changes in the control system

Correct Answer: AE

QUESTION 2

How can issues with traffic safety and new connected vehicles be addressed?

A. provide insight into the data generated from roadway sensors and devices

B. converge multi-services network designed for resiliency and deployment and management at scale
C. Cisco Validated Designs provide peace of mind and clear compliances

D. zero trust model, increase visibility, segmenting traffic mitigate and threat protection end-to-end

Correct Answer: D

QUESTION 3

Which Cisco full-stack solution automates the collection and integration of non-critical operational data and provides
asset location in Oil and Gas applications\\'?

A. Edge Intelligence

B. Industrial Asset Vision
C.IND

D. FND

Correct Answer: B

QUESTION 4
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What are critical problems in utility operations\\'?
A. integration of renewable energy in the grid

B. IT-OT convergence and automation

C. workforce cost

D. FLISRand VWO

Correct Answer: A

QUESTION 5
Which two functions describe the role of the IE5000 in the network hierarchy? (Choose two )
A. The IE5000 series are ruggedized, rack mount highly secure and scalable switches for access layer deployments

B. The IE5000 series are ruggedized. rack mount highly secure and scalable switches for aggregation layer
deployments

C. The IE5000 series are ruggedized. rack mount highly secure and scalable routers for aggregation layer deployments
13

D. The IE5000 series are ruggedized. rack mount highly secure and scalable routers for distribution layer deployments

E. The IE5000 series are ruggedized. rack mount highly secure and scalable switches for distribution layer
deployments

Correct Answer: AD

QUESTION 6

Which two scenarios are ideal for deploying Cisco Edge Intelligence? (Choose two )
A. when data needs to be sent to multiple locations

B. when user authentication is implemented centrally

C. when OT Security is implemented centrally

D. when single vendor out of the box edge experience is preferred

E. when policy management is edge enabled

Correct Answer: BC

QUESTION 7

What does Volt/Var Control and Optimization manage?
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A. Fault Location Isolation

B. voltage levels and power quality
C. compliance regulatory

D. service restoration

Correct Answer: B

QUESTION 8

How manyDVDs can be leveraged in the utility network design?
A. more than one

B. one regarding Green Energy

C. one regarding Generating Stations

D. none

Correct Answer: A

QUESTION 9

In which two critical areas does Cisco\\'s advanced roadside intelligence provide incremental value to customers in the
transportation industry? (Choose two )

A. consolidate infrastructure for other public services and commercial companies
B. improved throughput for cellular backhaul

C. improved road user safety

D. dynamic event detection notification and response

E. positioning of vehicle charging stations

Correct Answer: BC

QUESTION 10

What is the benefit of deploying the Extended Enterprise CVD to provide scalable and repeatable operations across the
entire enterprise with Cisco DNA Center?

A. User Authentication
B. Scalability

C. Guided Remediation
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D. Security

Correct Answer: B

QUESTION 11

Which Cisco Industrial Hardware is used for SPAN to support a brownfield Cyber Vision installation?
A. ISA3000

B. 1C3000

C. IR809

D. ASA9000

Correct Answer: B

QUESTION 12

Which product series has ultra-high performance featuring enhanced security and available Cyber Vision for Industrial
Control Systems visibility is SD-WAN and Edge compute enabled, is a Precision Timing Source and is Utility certified?

A. IR1101

B. IR1800 Rugged Series Routers

C. Catalyst IR8100 Heavy Duty Series Routers
D. Catalyst IR8300 Rugged Series

Correct Answer: D

QUESTION 13

What acts as a gateway between the wireless network and the wired core network?
A. Mesh Point

B. Mesh End

C. Mesh ID

D. End Node

Correct Answer: D
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QUESTION 14

How can an engineer maximize plant uptime?

A. improve fault isolation and troubleshooting time

B. standardize industrial enterprise

C. use architectures based on products with high MTBF
D. implement an architecture based on CPWE

Correct Answer: D

QUESTION 15

Which Cisco full-stack solution is used for asset visibility within mining operations?
A. GMM

B. Kinetic

C. Industrial Asset Vision

D. IND

Correct Answer: C
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